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SECTION A

QUESTION 1 (Compulsory) (40 Marks)

a) Write short explanatory notes on the following: (5 Marks each)

b)

Differentiate between Sales Tax and Personal Income Tax. (5)
Differentiate between the producer revenue for a flat-rate tax & the producer

revenue when the tax is a percentage of price. (5)
Differentiate between an endogenous variable & an exogenous variable, (5)
Autonomous consumption. &)
Motives for holding money &)

The demand and supply functions for a product are:

Qq =480 - 15P

Qs = 50P - 40

Determine the equilibrium values of P and Q, and also find the producer’s revenue
that these equilibrium values imply? (M

A flat-rate tax of E4 is imposed on each unit sold. Determine the new equilibrium

values. (4)
What effect does the flat—rate tax have on the tax revenue and the producer
revenuc? (4




SECTION B

Answer Any Two (2) of the Following Questions: (30 Marks Each)

QUESTION 2

a) Suppose that the Eswatini economy is defined by the following national income modei:

Y=C+I1+G
C= 150+ 0.08Y¢
1=75-20i
i) Given that T =3 + 0.02Y and G = 3000; determine the IS equation. (5)
i) If the transaction-precautionary demand for money is given by Li= 0.2Y and the
speculative demand for money is Lo = 75 — 20i; Money supply is fixed at M =
1500; determine the LM equation. (5}
iit) What will be the equilibrium values of income and interest rate in this closed
economy? (5
b) FEvaluate the following determinant using the Laplace method. (8)
5 6 1
2 3 0
7 -3 0
¢) Find the inverse of the following matrix; = (7)
| 4 1 =5
-2 3 1
3 -1 4_




QUESTION 3

a) Determine the total demand for industries 1, 2 and 3, given the matrix of technical

coefficients A and the final demand vector B below: (15)

Output industry

I 2 3 o
02 03 02 150
A=04 01 03 B =200

03 05 02 210

b) Use the Jacobian to test for functional dependence in the following system of equations:

(15)
vi=0x; +4x
y2 = Tx1+ 9%
QUESTION 4
a) Derive the Marshallian demand function, given that the utility function and budget
constraint are: ‘ (10
U=3x+xy+2y and Pix+P,y=8B
b) Estimate the demand for x at P, =2, 4, when B = 60, Py = 4. (5)
c) Estimate the demand for y at P, =2, 4, when B = 60, Px = 4. (5
d) Use Cramer’s rule to solve the following system of equations: (10)

2xy + 6xy =22

-xp + S5x2 =153




